FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW

5 Find the derivative of log_(cosecx + cotx) and deduce the value of:
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW

7 (a) Write (x = 1)(7 = x) in the form b® = (x = a)’, where a and b are real numbers.
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FURTHER INTEGRATION - CHAPTER REVIEW

9 Reduce each rational function to its partial fractions.

(@) x*=10x +13 x* +10x +16
(x=1)(x* =5x +6) (x=1)(x*-4) ’
- - - 5+l = r =_“S_T_ :.2.
a) FG\ %2—5L+€ / A:ZS—L‘X6—( rn-—___z___ 5 2 =
2 + 13 o + b + _¢
So _}_’__‘;,‘9,79__————- = — Y
(x-1) (2 -2) (x-3) x— | )

o(x-2)(x-3) + b(x-D)(x=3) +c(x=Nlc2
) [x-1) (c=2) (c=3)
Jo+2bt2e=2 ha+b=1)
(o +3b+2c=13 pfatbic=
15a +kb43c = H1O [Satbbr3e=10

a+b+(,:l
5o _ b —3c=—10 ¥

{o. +3b t2C = [5

A *‘ZO.‘-;" /(0&-:—2

L:“-— Qa 3 B

s Llona +e= | o =527 = f_—fq
5a+4(,,,4a)+3(3_10)=|o

L) 200 F6 48 a4 + b

] 2
T I i e
| ——— & CL(X——Z) + b(x-1)
/o - f(x—-l)(l—l) L
+ :I I):l"ok . b: o )
aZO\b b~8 <=O)"Z“—N—a\=gé {——O&.:g-)":-q b=lo
3o x2+10+ 16 -9 . 0

Section 8 - Page 7 of 26




FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW

14 Differentiate log, x —log, (a + m where a > 0 and deduce the value of: J' : dx -
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW

18 Use the substitution f = tan
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW
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FURTHER INTEGRATION - CHAPTER REVIEW B
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FURTHER INTEGRATION - CHAPTER REVIEW

dx dx
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FURTHER INTEGRATION - CHAPTER REVIEW

dx dx
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FURTHER INTEGRATION - CHAPTER REVIEW

23 Calculate the area of the region bounded by the curve y = xe™", the x-axis and the line x = 1.
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FURTHER INTEGRATION - CHAPTER REVIEW

0S8 X

24 Sketch the graph of y = § :cos X

of the turning point. Find the area of the region bounded by the curve and the x-axis.
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FURTHER INTEGRATION - CHAPTER REVIEW

27 (a) Using the substitution u = a - x, or otherwise, prove that J‘ f(x)dx = r fla=x)dx.
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